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B. Simplify. If no simplification is possible, say so.

1. V50 + VI8
4. V27T +2V7T5

7. V6 + V36 + V216
10. V18 + V24 — V54

5. B+ B
17. V4 + \’g
V2(VE + V10)
VI5(V3 + 2V5)

2V3(V4A8 — 5V12)
V6 - V24
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21.
23.
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2. V35 — V20
5. 5V2 - 2V5

8. V5 + V25 + V125
11. V54 + Va0 + V16
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12, i
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18. V30:
18. V15
21.

24,

27.
30.

3. 3V12 - V48
6. 7V3 -3V7

T
. V3(VI2 - V24)

. VIGV1A - V2D
. 3IVE(V5 + 2VT5)
VI8 - V6
) V3
Va0 - 2V5
V10

9. V30 + V63 - V32
12. V74 — V36 + VBl



C¢ Smellr 3. (VI+ D

L G+VDE - VD 2. 5+ VDE -~ VD)
4. (V5 + 27 5. (1 + VDG + VD) 6. (6— VI + VI
7 — 8. —--——-\;: 9. (\/_-\/5)2
* 4 - \/i 6+ V3
10. GVII - VI0Y® 1. 3 +avihEe - V3 12, 5 - VBE =2V
3 10
B V2 8. E-VA
15. (V11 - VDV + V) 16. (VI3 — VIVI3 + V3)
17. 5 + V3@ — 2V3) 18. (3 + 2V6)(4 — SV6)
V15 V6
1?'\/§+\/§ 20.——————-—\/_+\/_
21, V3 + VTP 22. (3V2 + V6)?
3. 2V3 + VH2V3 - \/') 24, 3VT = 2VEBVT + 2V'5)
25. (V6 — V15)? 26. (25 — V10)?
27'__\/;;__\[__\/“;\/5 28.2\/-“ 2\/7—1
29. (5VE + 3V2)2V6 — 4V3) 30. ( 3\/' +2V15 )(4\/5 - 3V15)
3, YL 3. D=3
" V5 =3 Vit V3
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